..‘vl v k -
TT—

g
IR
Sk : 4
b 5 —
e oA "

: ~ Test 3 — Math 203 — November 6th 2024
- CLOSED-BOOK — ATTEMPT ALL QUESTIONS
B TIME ALLOWED: 1 HOUR

_and notes are not allowed. To obtain full credit you should show 4
iy ; clearly ami___mngige]&. You may attempt the questions in any order
stions are worth equal marks. AR '
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-and row space of the matrix
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Question 9 Let B be the basis of R3

QWO N -

) , find [x]B by defin

Given X = (

Finally, check that your answer for

consisting of the vectors by, bz and bj whe
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ing and calculating the appropriate change-

[x|p is correct by direct calculation.
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of-basis matrix.
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2.6 - 180 + 917 ~ 13 form a basis for P3.
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